2.4 Gross_Net Example Solutions

December 14, 2018

Sally has an annual salary of $42 330 and she is paid
biweekly. She has the following deductions: union dues
$11.50, pension, $295.00, medical $23.49 and dental
$35.34. What is her net pay if she has a claim code of 4.

tables

@

Gross Pay $162%.0%
-Pension 295. 00
-Union Dues 1. So

Taxable Income

$1321.58

C.P.P.

13.43

E.l

272.03

Fed tax

18.S0

Prov tax

(2.S0

Medical

23.49

Dental

3534

Net Pay

030,19

Calculating Net Pay

Mrs. Sears has an annual salary
of $87 762. She is paid biweekly

3 using claim code 1 and her
Gross Income 3 37 S.4( deductions are: pension $394.92,
Union Dues T union dues $38.QO, car insurance
- - $80.47 and medical $34.23. What
Pension —394.92 is her net pay?
Taxablelncome | 32942, 5¢ | $¢9 742/24= $3375.94
C.P.P. ~ [60D.
2 9902-3500= §4 262
E.l = S¢. 03
94 242400495 =1160.92
Federal Tax -409.490 7
Provincial Tax -302. qs 337S%\( 000,“;445"03
Other deductions NITEN
Net Pay ¥164q sy
Gross Income Jane, who is a receptionist, has
Y1 GL 2% an annual salary of $40 485. She
Union Dues _ G G is paid semi-monthly using claim
Pension v code 4. Her deductions are:
LS a7 ) .
- - pension $125.07, union dues
Taxable Income | ¢ co) o, | $9.95 RESP contribution $100
- and medical & dental $58.62
C.P.P. 74-2% What is her net pay?
E.l 2866 ‘Ll'o "’?5 /ﬁ:f,léi(,,ﬂ
Federal Tax _an ?E,' iw 2 HS.'KS
Provincial Tax N Q ak
Other deductions “('O'I'qw ¢ |1686.85-145.63= 1541.05
Net Pa = ToUvE 1S41.05% 0.0%95= 726.28
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168658« D.0lLb= J§.06

®yg320/20
= $|(ng.0$


https://www.canada.ca/en/revenue-agency/services/forms-publications/payroll/t4032-payroll-deductions-tables/t4032nb.html
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